02485 =Z 1 3 LERIAL IS8, SIIESE3H JI2uaEggdR ~ 2=
2 SAIH A D
g =89 A& L OIS(RELNGNL/XNSLEAI)
chel: 22l E (St &)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
AL TH24 10 38,454,905 36,001,946 2,452,959
= 1,828,260 948,423 879,837
[ 9,015,000 8,632,000 383,000
= 1,032,500 465,750 566,750
= 26,579,145 24,085,773 2,523,372
CH 0 1,900,000 21,900,000
2E9 HE 2 OIZ(2ELXNINY/XNALTAI) 1,910,760 1,860,760 50,000
T2elHE =g 905,360 855,360 50,000
ZHEAIE 22 905,360 855,360 50,000
401 AlZHIZ S OHYI 810,000 760,000 50,000
01 AlZHI 810,000 760,000 50,000
Oz HE HHl E4 110,000, 000& 110,000 60,000 50,000
AN DB EE(SELXSINL/AAE) 312,100 308,600 3,500
AAEI =M 312,100 308,600 3,500
AAEI = 312,100 308,600 3,500
201 et23| 6,700 3,200 3,500
01 AtR2telHl 6,700 3,200 3,500
(OFN=r=i= 3,500,000& %12 3,500 0 3,500
AADIBIAIE S S (S ELXSONL/AAET) 7,3%,605 6,806,605 590,000
S 340,000 0 340,000
= 7,006,605 6,806,605 250,000
SRAEHT] R (SLNLAIESESIH) 7,386,605 6,796,605 590,000
= 340,000 0 340,000
= 7,046,605 6,796,605 250,000
SYHUPMIEHR ZHAY 7,046,605 6,796,605 250,000
401 AlZHIZ20HY] 6,946,605 6,796,605 150,000
01 Al&H 6,300,000 6,150,000 150,000
OSYLAACR HE(HE) =8 Y
150,000,000 150,000 0 150,000
403 TS =01 100,000 0 100,000
02 SI12S0ItH et =& 2 €A I 100,000 0 100,000
OFHUBMACHT] BA4ADP 2EFAIAH]
100,000,000& 100,000 0 100,000
oy FYUBMAH SLB+T AL (HEAIY) 340,000 0 340,000
= 340,000 0 340,000
401 AIEHIZ R HYI 340,000 0 340,000
[ 340,000 0 340,000
01 AlIZHI 340,000 0 340,000
0o SYALHMACHT] IS+ e
340,000,000 340,000 0 340,000
== 340,000 0 340,000
CAIHE 2(ZESLXHNL/NAKLEA) 7,291,474 6,841,474 450,000
CAH=AS 6,919,540 6,469,540 450,000




2A:

S AIRH A4 D

M TAIHE 2l (FELXENL/KALEAI)
el SAIHEAY (SH9 H2)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
SANNHEEZ JHE 5,613,280 5,213,280 400,000
401 AlEBIYL S THYI 5,612,000 5,212,000 400,000
01 AlZHI 5,612,000 5,212,000 400,000
ORY CANECZ2(S23-5254) WA
HANEAH ES 300,000,000 300,000 0 300,000
OZAHEANLE (=2 AR2-738H, F=XHE) &
d(gd) 849 100,000,000 100,000 0 100,000
SANHEAIEE FA2e 306,260 256,260 50,000
401 Al&BIL S THYI 306,260 256,260 50,000
01 AlEZHI 305,000 255,000 50,000
o2z TAIHEAEE FAl2c
150,000,000 150,000 100,000 50,000
CAZe] Y OHEH(2ELXSNL /X FLCAl) 6,786,365 5,696,615 1,089,750
= 900,000 0 900,000
= 2,096,000 1,713,000 383,000
[ 540,000 343,000 197,000
= 3,250,365 1,740,615 1,509,750
H 0 1,900,000 1,900,000
CAITHA A 6,786,365 5,6%,615 1,089,750
= 900,000 0 900,000
= 2,096,000 1,713,000 383,000
[ 540,000 343,000 197,000
= 3,250,365 1,740,615 1,509,750
CH 0 1,900,000 1,900,000
CAIS 23t 635,958 632,208 3,750
201 fer=3| 53,790 50,040 3,750
01 AtR2te|HI 29,190 25,440 3,750
OSAITHAMHIAIY Hatx2=2
1,000,000 *23] 2,000 0 2,000
Ol 28t A MM Eot=g
250,000 +74 1,750 0 1,750
ASA T SAIHE=E A 3,762,407 2,838,407 924,000
z 1,525,000 1,525,000 0
< 305,000 305,000 0
= 1,932,407 1,008,407 924,000
401 AlEBIYL LY 3,556,000 2,632,000 924,000
= 1,459,000 1,459,000 0
[ 291,800 291,800 0
= 1,805,200 831,200 924,000
01 AlZHI 3,552,000 2,632,000 920,000
Oas2 &, MUE A1 e=5S S0 Al
Ml =S AL 3,552,000,000& * 14! 3,552,000 2,632,000 920,000
= 1,459,000 1,459,000 0
(= 291,800 291,800 0




2A:

S AIRH A4 D

A CAlZe] ¥ OO (BEX XN/ AL Al
el SAITHAANS (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
= 1,801,200 831,200 920,000
03 Al 20HHI 4,000 0 4,000
Ods2 &, MUE A1 e== EUh TAl
Ml wEAS AL
4,000,000& 4,000 0 4,000
SSAT ZAITHA I EALY 786,000 326,000 460,000
= 571,000 183,000 383,000
< 115,000 38,000 77,000
s 100,000 100,000 0
401 AlZBIL S CHY] 786,000 326,000 460,000
= 571,000 188,000 383,000
< 115,000 38,000 77,000
= 100,000 100,000 0
01 Al&HI 786,000 326,000 460,000
OSSK7 TAITHA IFAIS
786,000,000 x 14 786,000 326,000 460,000
z 571,000 188,000 383,000
< 115,000 38,000 77,000
= 100,000 100,000 0
2ZEC FIXRHEH =& (KNLABUHEIIS) 0 1,900,000 1,900,000
CH 0 1,900,000 1,900,000
401 AlEBIYL S THYI 0 1,900,000 1,900,000
CH 0 1,900,000 1,900,000
01 AlEZHI 0 1,900,000 1,900,000
ORZEE = XAMH LAY
0 0 1,900,000 1,900,000
tH 0 1,900,000 1,900,000
ESSK T KEESTHAEE TAITHAEALY 1,602,000 0 1,602,000
= 900,000 0 900,000
< 120,000 0 120,000
= 582,000 0 582,000
401 AlZBIL S THY] 1,602,000 0 1,602,000
= 900,000 0 900,000
< 120,000 0 120,000
= 582,000 0 582,000
01 Al&HI 1,600,000 0 1,600,000
ESSXT KNEESTHHE TAIHHEALY
1,600,000,000& 14! 1,600,000 0 1,600,000
= 900,000 0 900,000
< 120,000 0 120,000
= 580,000 0 580,000
03 A& S CHYI 2,000 0 2,000
OSSAT NS TAITHEAZ Al
A 20 2,000,000 2,000 0 2,000




M SAIH A
M FHEEME(AEIER]/5E4)
&t sEFAHEE MY

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
FHZINE (AIZISXI/ =) 248,220 240,546 7,674
= 38,060 36,223 1,837
T 7,350 7,350 0
i 202,810 196,973 5,837
sSEFAHSZNA 229,220 221,546 7,674
= 28,560 26,723 1,837
L= 4,500 4,500 0
i 196, 160 190,323 5,837
HASHE LU 232 XA 14,000 10,000 4,000
501 EXt=3 14,000 10,000 4,000
01 elR”tEX= 14,000 10,000 4,000

ONASE YUES2 I

14,000, 0002 14,000 10,000 4,000
sEISSS UM 57,120 53,446 3,674
= 28,560 26,723 1,837
= 28,560 26,723 1,837
207 A2 IHEH| 0 53,446 A53,446
= 0 26,723 AN26,723
[ias 0 26,723 N26,723
01 AR A 0 53,446 A53,446
OsE0 2K M A o 0 53,446 AB3,446
= 0 26,723 N26,723
i 0 26,723 A26,723
308 REXIHMSOIH 57,120 0 57,120
= 28,560 0 28,560
= 28,560 0 28,560
13 SI12SOIeHE & X2 &AL 57,120 0 57,120
OsZ0ERFENEXZAL 57,120,000& 57,120 0 57,120
= 28,560 0 28,560
= 28,560 0 28,560
JI=MESH(AMEISX /I ZHEEH) 1,117,700 1,145,200 A27,500
= 890,200 912,200 222,000
& 112,650 115,400 22,750
ik 114,850 117,600 22,750
DIESE L = PNINE 1,113,700 1,141,200 227,500
= 890,200 912,200 A22,000
= 111,450 114,200 22,750
= 112,050 114,800 A2,750
FHSOHAE 1,113,300 1,140,800 A27,500
= 890,000 912,000 222,000
= 111,250 114,000 A2,750
= 112,050 114,800 A2,750
301 LEBNEF 765,500 800,000 A34,500




0z

A SAITHAE D
H

HH: J|=MEST(AISISX/JI=MEEE)
Selr JZME-S I (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 612,400 640,000 £27,600
S 76,550 80,000 A3,450
s 76,550 80,000 23,450
01 Al EE A GIS (2 DEXTHR) 765,500 800,000 A34,500
OJ|zdzg X FAHASH(LX=0)

765,500,000 765,500 800,000 A34,500
= 612,400 640,000 £27,600
= 76,550 80,000 A3,450
= 76,550 80,000 A3,450

403 THXIEMS =01 347,000 340,000 7,000

= 277,600 272,000 5,600

= 34,700 34,000 700

= 34,700 34,000 700

02 S| 2S0ICHEH A= E 2 EF AL HI 347,000 340,000 7,000
OJI=ME=gN =82S0 (E+2l)

347,000,000& 347,000 340,000 7,000
= 277,600 272,000 5,600
= 34,700 34,000 700
= 34,700 34,000 700

EXNHAZH (S ELXGINL/XSLEAI) 299,832 261,532 38,300

= 32,500 0 32,500

ik 267,332 261,532 5,800

AEXE 2el 273,532 243,532 30,000

= 30,000 0 30,000

= 243,532 243,532 0

AEXIE 2el 194,332 164,332 30,000

S 30,000 0 30,000

s 164,332 164,332 0

401 AIEHIZ S OHLI 175,260 145,260 30,000

S 30,000 0 30,000

s 145,260 145,260 0

01 A<l 174,000 144,000 30,000
OTENS =2 ZgAMY

170,000,000 14! 170,000 140,000 30,000

= 30,000 0 30,000

s 140,000 140,000 0

SyE 2e| 26,300 18,000 8,300

= 2,500 0 2,500

= 23,800 18,000 5,800

L 2HE ZHIAME 8,300 0 8,300

S 2,500 0 2,500

s 5,800 0 5,800

401 AIEHIZL S OHHI 8,300 0 8,300

(= 2,500 0 2,500




2A:

S AIRH A4 D

M EXAHS2A(IELXNANL/XALCAI)
ol SZ3l=E 2 EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
z 5,800 5,800
01 Al&HI 8,300 8,300
ORc D 2te A
8,300,000+ 14! 8,300 0 8,300
< 2,500 2,500
= 5,800 5,800
HRESS(SAIMAN) (SEXXFAHL /KSR EAI) 5,759,534 5,508,299 251,235
WRHeHXIE 5,758,299 5,508,299 250,000
STMEASSEHEES 5,748,299 5,498,299 250,000
701 JIEHRIASEES 5,748,299 5,498,299 250,000
01 JIEt2H A ES 5,748,299 5,498,299 250,000
OSSMEAS SE3H dE=
5,748,299,000& 5,748,299 5,498,299 250,000
RSP 1,235 0 1,235
2CH EX3 gHEs 1,235 0 1,235
802 gtet=0IE 1,23 0 1,235
01 2NEXSEHES 24 0 24
O=HIExS tteta 24,0002 24 0 24
02 Al - CHIEX=SEHES 1,211 0 1,211
OkHEx3 gHEs 1,211,0002 1,211 0 1,211




